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West Bengal State University; 

B.A./B.Sc./B.Com. ( Honours, Major, General) Examinations, 2010 

Duration : 3 Hours 

PART - I ( General ) 

PHILOSOPHY 

Paper-I 

Full Marks : 100 

Caru:ltdates are required to give their answers in their own words as far as practicable. 

The .figures in the margin indicate full marks. 

GROUP-A 

��-� 

Answer Question �os. 1 & 2 and any two from the rest. 

1. Answer any five questions :

(a) Distinguish between Samavyapti and Asamavyaptl.

(b) What is meant by Sapak�a and Vipak�a ?

5 X 2 = 10 

(c) Give an example of Paficiivayavi V-akya and name each constitutent part of it.

9f\fsl<H141 � �'1 � �<f� � '614�<.4� � fi;f� I
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2. 

(d) Identify the Sadhya, Paksa and Hetu of the following inference :

The moon is hot, because it has a name.· 

A�fil� \!Sl1,1ll-ilt'!1,n�. 'Pf1'F ����cm�: 

'"5'af h, � IJlit •� 1"

(e) Name the different kinds of Aslddha Hetvaohasa.

� C('Ol1.Slc>i'!1 �,o� � �� � I

(0 What are the constituents of Paramarsa ?

"i�tiic-rn � � RS � !ltmlBi� 7

(g) Give suitable example of Putvavat and Sesovat Anumana.

�� '6 �'- \!Sl1,1IIC-i'!1 �� � � I 

(h) Distinguish between Anumana and Anumitl.

� '6 \!Sl;ffelN>-ll lft� 90� C'f� I

(1) What do you mean by Sahachara relation ?

�'f'ft���?

0) Identify the fallacy in the inference following :

'Sound ls eternal, becaus_e it ls a quality.' 

� \!Sl.ffeN>� � � � �: 

·� �. � 1lfSf \� � 1"

Write short notes on any two : 

Cl! � 1{1tl (3� ��� � �� : 

. (a) Difference between Svarthanumitl and Pararthanumitl. 

�� '6 "im�.ffef'5'!1 11!� 9fl� I 

(b) Paramarsha.

�I

(c) Samanyalak��a perception in knowing Vyaptl.

- � Sfl�l-iJC1"Jfi't � I

(d) Paksadhannata.

'Pf"Fffll I
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3. Distinguish between Anumana and Anumitl. Explain with &uttable examples 

Keva.lanvayt. Kevalavyatireki and Anvayavyatlrcki inferences. 3 + 12 

� '6 161-rfi!N>� �� �� � cJF{ I C44i11'11ffi, �40NSC'SI" �� 'fflr4(JNSCl.fl �� 

��<Ul��I 

4. Explain the conditlons that should be fulfilled by Sat-Hetu. 15 

5. What ls Hetvabhasa ? Explain with examples Vtruddha, Badhita and Sat-pratJpakaa

Hetvabhasa. 3+4+4+4 

C�l181>t f.i5 ? �� �. <fff� '11<1� �t.-�'Pf'!f C��l181>t � � 1-f'

6. Determine the Sadhya. Paksa and Hetu of the following inferences and explain the

Hetvabhasa Involved tn them ( any three) : 3 x 5

� �ct-om 'fttU, 9f'!f '11<1� � � � 11l<l� � C�l\Sl>t � � � � ( �

�fw.$):

(J) Sugar is saline. because it is a product.

(U) An apple is sweet. because It has appleness In it.

(W) The soul ts eternal, because it ls born.

(iv) The hare's horn is hard. because it ts a horn.

(v) , Fire ts non-warm, because it is a substance.
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GROUP- B 

7. 

Answer .Question Nos. 7 & 8 and any two from the rest. 

Answer any five of the following 5 X 2 • 10 

(a) 'Nothing is both round and square' - Give the logical form of this statement

and state which term is distributed.

·� � ll,'>t9f� C'>tl'11<lil?l -o <f� � 9fro1 � 1' - <f14Jlt� if<fMIIM>i'il\!l ffi"f � �"

� 9flf <Ul90 � � � I

(b) Distinguish between sentence and proposition.

(c) Give an example of invalid argument, where the premises and conclusion are

both true.

dl1F{ di���� �Cf�� C��,q1qSJ�fit �� �h11l: � I

(d) Express in Boolean notation and draw Venn diagram :

"All non-A arc non-B." 

(e) Give the obverse of the converse :

'Few men are not honest' 

(f) Give an example of Fallacy of illicit major.

I Sub-B.A.(GEN)PHIG-1904 j WBSUB 
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(g) Given A and Bare false, X and Y are true. determine the truth-value of the
following compound sentences

{1) { A V B ) ::> ( Y ::> X )

(U) I - { A . B) V ( Y = - X} ·J.

(h) Symbolize the following :

�<§lq51rn'6 � :

(1) p, if and only if q

p.������ q 

{U) q is the necessary condition of p.

q � � '511<1fiitJ<li � I

{t) What are the names of valid moods of syllogism in first figure ? 

� �QJ'tl '{�� �tf �'(tffl � Fis ? 

U) Name the method applied in the foUowing argument :

� � '511<fi1:i:11t� C1' � !ftm'5f � � $ � ��:

ABC -xyz 

A+ BC-x-yz 

A-BC-x+ yz

A is the cause of x.

Write short notes on ( any two ) 

(a) Two senses of the word 'OR'

��· � � '51Qf'

(b) Truth and Validity

� l!l<1� ��

ul,.B.A.(GEN)P�G-1904 WBSUB 

5 + 5 = 10 

I Turn over 



PHIG(GEN)-01 

(c) Opposition of proposition

(d) Rules of categorical syllogism

(e) Existential fallacy.

6 

9. Test the validity of the ·following syllogism or syllogistic forms by means of Venn

diagram ( any three ) : 

(l) AOO - 3 ·

(11) EAO - 4

5+5+5 

(iii) Some Scientists are Philosophers. since some Mathematicians are Philosophers ,

and all Mathematicians are Scientists.

(iv) . No patriot is happy person and some happy persons are virtuous. Therefore

some virtuous are not patriots. 

� �� ;:rn "'i� � dl�� � � "'i� � � � I�� � � � itll 

�Wl'<15 l 

10. Test the validity of the following with the help of truth table ( any three): � x 5 

(a) p => q

:. - p => - q

I Sub-B.A.(GEN)PHIG-1904! WBSUB 



(b) A· ( B V C)

-BV-C

:. - C

(c) p V ( q · - q )

:. - p V - p 
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(d) If Ram be the king and Bharat be the comma6der. then either Lakshmana will

be the minister or Satrughana will be the minister. If Lakshmana is not the

minister, then Bharat will not be the commander. So. either Ram will be the

king or Satrughana will be the minister.

��� � 1£!<1'� �� ���' � �.�'1�� '51��11 ���I�

�'1�.:it�, �� ���.:it I����� �'5/Q/<ft �11 �m

11. Explain and examine Mill's method 0f Agreement or Joint method of Agreement and

Difference. 15

12. What do you mean by distribution of terms ? Explain and illustrate it with the help of

categorical proposition. 15

� <l'Jl� � � � ? f.:rnt� � � � <l'Jl� ��faf �'! �'i'j <Ut�
' 

�, 
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